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1.1
1.1.1
@

a=10.0
LR TORAUA AR A A A R
Hl L
H 3000 o o0
3. 80
I 6. 60
~8. 00
- < 1606 —10.00| -10.00
~20. 00| ~20. 00

FORUMS8



D

2)

G.L.(m) 0.000
G.L.(m) | -10.000
G.L.(M) |  -6.600
G.L.(m) |  -2.000
G.L.(m) | -10.000
q KN/ 10.00
q kN/m? 0.00
No \
5 s ) )
G.L.(m) | G.L.(m) N/ | (k)
1] 0.000| -2.000 10.0 14.0 5.0 0.0/| 0.0
2| -2.000| -8.000 10.0 14.0 50| 00| 0.0
3| -8.000 | -10.000 50.0 20.0 11.0| 40.0| 2000
4| -10.000 | -20.000 36.0 18.0 9.0/ o0.0/| 0.0
5| -20.000 | -30.000 50.0 19.0 10.0 | 40.0| 20.0
No qu
Co k ; kH
vy | oy | el | KV avr
1 60.0 0.0 0.000| 120.0 6000
2 60.0 0.0 0.000| 120.0 6000
3 0.0 0.0| -8.000 0.0 50000
4| 100.0 0.0 | -10.000 | 200.0| 10000
5 0.0 0.0 | -20.000 0.0| 50000
No
\ ()| )
G.L.(m) | G.L.(m) N/ | (k)
1] -10.000 | -20.000 36.0 18.0 9.0/ o0.0| 0.0
2| -20.000 | -30.000 50.0 19.0 10.0 | 40.0| 20.0
No qu
Co k > kH
avmy | oy | el | KV av
1] 100.0 0.0 | -10.000 | 200.0| 10000
2 0.0 0.0 | -20.000 0.0| 50000

FORUMS8
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1.0
(6.L.-10.000)m
Fs 1.210 1.20
Z(m) 0.510(G.L.-10.510)m
D(m) 0.660(G.L.-10.660)m
Y(m) 0.257(6.L.-10.257)m
3.000(G.L.-13.000)m
Fs 2.774 1.20
L(m) | 10.000(G.L.-20.000)m
o
20.000m
0. 000 0. 000
4. 00 IS
<o
I:">\15. 20 5
15. 20
= g
<
40. 96 =
[}
— % ¥
36. 60 g
-10.000 _ N 48. 60 o
= 200. 0¢/ s 164. 80
o \\
\
\
\
< \ o
S \ S
() \ [}
= \ S
— \ —
\
\
\
\
380. 00 \136. 80
(G.L.-10.510)m
Ma(kN.m/m ) 378.04 | Pa(kN/m) 182.02
Mp(kN.m/m ) 381.56 | Pp(kN/m) 104.34
Mp Ma 1.01
Mp Pp m 0.257
(G.L.-10.660)m (G.L.-20.000)m
Ma(kN.m/m) 419.29 9320.94
Mp(kN.m/m) 507.41 25860.00
Mp Ma 1.210 1.20 |2.774 1.20
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(.L.
(.L.
G.L.-

10.000)m

0.000)m
0.000)m

on4 oo

0. 000

[l
o

Xi.OO
9. 60

L.000=

Yl 60
15. 20

L. 000

15. 20

256. 28

1. 800

26.28

2. 800

1. 400

[=AvAvEIavav)

0. 257
€|

0.12h72. 000

3

.600)m
.257)m

Mmax

kN.m/m

70.74

1.818(G.L. -8.

418)m

Smax

kN/m

78.65

0.000(G.L. -6.

600)m

RA
RB

kN/m
kN/m

78.65
69.39

o max

0.0028

1.828(G.L. -8.

428)m

=

(
2.800

G.L. -3.
(G.L. -6.

800)m
600)m

Mmax

kN.m/m

32.51

1.455(G.L. -5.

255)m

Smax

kN/m

50.03

2.800(G.L. -6.

600)m

RA
RB

kN/m
kN/m

42.71
50.03

o max

0.0007

1.120(G.L. -4.

920)m

FORUMS8




Q)
D

2
m (G.L. -1.000)m
m (G.L. -3.800)m
m 2.800
Mmax kN.m/m 17.19
m 1.503(G.L. -2.503)m
Smax kN/m 28.07
m 2.800(G.L. -3.800)m
RA kN/m 20.76
RB kN/m 28.07
d max m 0.0004
m 1.400(G.L. -2.400)m
0. 000 0. 000
[} =
S 4. 00 S
= 9. 60 =
g :>'j9. 60 =18
[} e}
— 15. 20 =
- 4§5.20 -
[} [}
ee] Q
- 25. 28 -
25. 28
[} (e}
o o
Q ee]
N N
40. 96
o 34\10. 96 o
[} )
< <+
— 48. 80 —
36. 60
e} e}
e} e}
[} e}
o N
©9.000 o, 5 60 =
R — Rt L 15%: 89 =
= S =
No G.L. (m) G.L. (m) kN/m kN/m
1 -1.000 28.60
-3.800 28.60
2 -3.800 -1.000 27.03 69.74
-6.600 42.71
3 -6.600 -3.800 50.03 128.67
-10.257 78.65
No.(n)

No(n)
No(n)

FORUMS8




2)

No h pw
GL(m) pp pa g p
(m KN/ KN/ kN/m KN/
1 0.000 | 1.000 0.00 4.00 0.00 4.00
-1.000 0.00 9.60 0.00 9.60
2| -1.000| 1.000 0.00 9.60 0.00 9.60
-2.000 0.00 15.20 0.00 15.20
3| -2.000| 1.800 0.00 15.20 0.00 15.20
-3.800 0.00 25.28 0.00 25.28
4| -3.800| 2.800 0.00 25.28 0.00 25.28
-6.600 0.00 40.96 0.00 40.96
5| -6.600| 1.400 0.00 40.96 0.00 40.96
-8.000 0.00 48.80 0.00 48.80
6| -8.000| 2.000 0.00 36.60 0.00 36.60
-10.000 0.00 48.60 0.00 48.60
7| -10.000 | 0.257 200.00 64.80 0.00 0.00
-10.257 204.62 66.65 0.00 0.00
[ 110 1
[ p pa pw pp

FORUMS8




1.1.2

v
SY295

>Q N

x 10°(mm’/m)

x 10°(mm’/m)

2270
0.600
242 .50

M
x 10°(N.mm/m )

N
x 10°(N/m )

S
x 10°(N/m )

Max 102.46 0.00 78.65
o = OLM. 7 + I/:I = osa
o (N/mm?)
oa (N/mm?)
VA
A
o o sa
N/mm? N/mm?
Max 75.2 270.0 o
- S <
T — A = Ta
T (N/mm?®)
T a: (N/mm?)
T Ta
N/mm? N/mm?
Max 3.2 125.0 o

FORUMS8



2
2.1
2.1.1
1
v
SY295
Z x 10°(mm’/m) 2270
B R 0.600
A x 10°(mm’*/m) 242.50
2
M N S
x 10°(N.mm/m ) x 10°(N/m ) x 10°(N/m )
Max 72.18 0.00 79.96
3
o = OLM_ 7 + I/:I = osa
o (N/mm?)
oa (N/mm?)
Z
A
o o sa
N/mm? N/mm?
Max 53.0 270.0 o
4
- S =
T — A = Ta
T (N/mm?®)
T a: (N/mm?)
1 Ta
N/mm? N/mm?
Max 3.3 125.0 o

FORUMS8



2.1.2
D1
1)
\o 6L Pae (kN/m?) bpe KH 5 R
m KN/ kN/m/m mm kN/m
1 0.000 | | -—====——- 4.00 | —~——==—==—= | —m—————- 11.70 | -==——--——-
2 -0.500 6.80 6.80 | ~—-————=—= | —====——- 10.17 | --——--—--
3 -1.000 9.60 9.60 | ~—-————=—= | —====——- -8.64 | —~-——--——-
4 -1.500 12.40 12.40 | —========= | —mmm——e -7.14 | ———————-
5 -2.000 15.20 15.20 30.06 1500 -5.70 8.5
6 -2.500 12.00 12.00 60.50 3000 -4.36 13.1
7 -3.000 8.80 8.80 61.00 3000 -3.18 9.5
8 -3.500 5.60 5.60 49.16 2400 -2.18 5.2
9 -3.800 3.68 3.68 30.89 1500 -1.68 2.5
10 -4.000 2.40 2.40 35.68 1725 -1.38 2.4
11 -4.375 0.00 0.00 31.17 1500 -0.90 1.4
12 -4.500 0.00 0.00 26.81 1275 -0.76 1.0
13 -4.800 0.00 0.00 32.03 1500 -0.48 0.7
14 -5.000 0.00 0.00 45.72 2100 -0.32 0.7
15 -5.500 0.00 0.00 67.10 3000 -0.03 0.1
16 -6.000 0.00 0.00 69.20 3000 0.15 -0.4
17 -6.500 0.00 0.00 42.53 1800 0.22 -0.4
18 -6.600 0.00 0.00 36.02 1500 0.23 -0.3
19 -7.000 0.00 0.00 66.15 2700 0.24 -0.6
20 -7.500 0.00 0.00 45.05 1800 0.20 -0.4
21 -7.600 0.00 0.00 38.12 1500 0.19 -0.3
22 -8.000 0.00 0.00 65.88 13700 0.15 -2.1
23 -8.500 0.00 0.00 79.38 25000 0.10 -2.4
24 -9.000 0.00 0.00 91.88 25000 0.05 -1.2
25 -9.500 0.00 0.00 104.38 25000 0.02 -0.4
26 | -10.000 0.00 0.00 122.01 15000 -0.01 0.1
27 | -10.500 0.00 0.00 132.30 5000 -0.02 0.1
28 | -11.000 0.00 0.00 135.00 5000 -0.02 0.1
29 | -11.500 0.00 0.00 137.70 5000 -0.02 0.1
30 | -12.000 0.00 0.00 140.40 5000 -0.02 0.1
31| -12.500 0.00 0.00 143.10 5000 -0.02 0.1
32 | -13.000 0.00 0.00 145.80 5000 -0.01 0.1
33 | -13.500 0.00 0.00 148.50 5000 -0.01 0.1
34 | -14.000 0.00 0.00 137.75 4559 -0.01 0.0
35| -14.412 0.00 0.00 76.49 2500 0.00 0.0
36 | -14.500 0.00 0.00 90.86 2941 0.00 0.0
37 | -15.000 0.00 0.00 156.60 5000 0.00 0.0
38 | -15.500 0.00 0.00 159.30 5000 0.00 0.0
39 | -16.000 0.00 0.00 162.00 5000 0.00 0.0
40 | -16.500 0.00 0.00 164.70 5000 0.00 0.0
41 | -17.000 0.00 0.00 167.40 5000 0.00 0.0
42 | -17.500 0.00 0.00 170.10 5000 0.00 0.0
43 | -18.000 0.00 0.00 172.80 5000 0.00 0.0
44 | -18.500 0.00 0.00 175.50 5000 0.00 0.0
45 | -19.000 0.00 0.00 178.20 5000 0.00 0.0
46 | -19.500 0.00 0.00 95.43 2647 0.00 0.0
47 | -19.529 0.00 0.00 90.83 2500 0.00 0.0
48 | -20.000 0.00 | ---—---- 86.10 2353 0.00 0.0
1
2
3 g
4

FORUMS8
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2)1

Mmax = 1.9kN.m/m ( G.L. -9.00m) Mmin = -27.1kN.m/m (
Smax = 7.8kN/m  ( G.L. -5.50m) Smin = -19.2kN/m  (
0 max= 0.24mm ( G.L. -7.00m) & min= -11.70mm (
kN.m/m kN/m
Noof &L m KN/
1 0.000 | ---------- 0.0 | ——-mmmmm—- 0.0 =-11.70 | ———=mmmmm-
2| -0.500 -0.6 -0.6 -2.7 2.7 -10.17 | ———mmmmm—-
3 -1.000 -2.9 -2.9 -6.8 -6.8 -8.64 | —~————————-
4| -1.500 -7.7 -7.6 -12.3 -12.3 7.4 | —meee -
5| -2.000 -15.5 -15.5 -19.2 -10.7 (0 [ S ———
6| -2.500 -22.6 -22.6 -17.5 -4.4 -4.36 | ————mmmmm-
7 -3.000 -26.1 -26.1 -9.6 0.0 -3.18 | —~—-——————-
8 -3.500 -27.1 -27.1 -3.6 1.6 -2.18 | —————————-
9 -3.800 -26.8 -26.8 0.2 2.7 -1.68 | ~———————--
10 | -4.000 -26.4 -26.4 2.1 4.5 -1.38 | —mmmmmmme-
11| -4.375 -24.8 -24.8 4.0 5.4 -0.90 | ~—----—-—-
12 -4.500 -24.1 -24.1 5.4 6.4 -0.76 | —~—-—--—---
13 -4.800 -22.2 -22.2 6.4 7.1 -0.48 | —~—-—-——---
14 -5.000 -20.8 -20.8 7.1 7.8 -0.32 | ===~
15 -5.500 -16.9 -16.9 7.8 7.8 -0.03 | —~—=—=——-—-
16 | -6.000 -13.0 -13.0 7.8 7.4 0.15 | =——=mmmmmm
17 -6.500 -9.3 -9.3 7.4 7.0 0.22 | —~—=——————-
18 -6.600 -8.6 -8.6 7.0 6.7 0.23 | —~—=———-——-
19 -7.000 -5.9 -5.9 6.7 6.0 0.24 | —~———-——---
20 -7.500 -2.9 -2.9 6.0 5.7 0.20 | —~—=—==—---
21 -7.600 -2.3 -2.3 5.7 5.4 0.19 | ~—-———---—-
22 | -8.000 -0.2 -0.2 5.4 3.3 0.15 | ——=mmmm-
23 -8.500 1.4 1.4 3.3 0.9 0.10 | ~—-———--—-
24 -9.000 1.9 1.9 0.9 -0.4 0.05 | —=====--—-
25| -9.500 1.7 1.7 -0.4 -0.8 0.02 | =——-mmmmm-
26 | -10.000 1.3 1.3 -0.8 -0.7 -0.01 | ———=mmmmm-
27 | -10.500 0.9 0.9 -0.7 -0.6 -0.02 | —mmmmmmmm-
28 | -11.000 0.6 0.6 -0.6 -0.5 20.02 | —mmmmmmmm-
29 | -11.500 0.4 0.4 -0.5 -0.4 -0.02 | -~————————-
30 | -12.000 0.2 0.2 -0.4 -0.3 4 10 S —
31| -12.500 0.1 0.1 -0.3 -0.2 -0.02 | ——m—mmmmm-
32| -13.000 0.0 0.0 -0.2 -0.1 -0.01 | ————mmmmm-
33| -13.500 -0.1 -0.1 -0.1 0.0 -0.01 | ————mmmmm-
34| -14.000 -0.1 -0.1 0.0 0.0 -0.01 | ~————————-
35| -14.412 -0.1 -0.1 0.0 0.0 0.00 | ——----m——-
36 | -14.500 -0.1 -0.1 0.0 0.0 0.00 | —~—-—--—---
37 | -15.000 -0.1 -0.1 0.0 0.0 0.00 | —=====----
38 | -15.500 -0.1 -0.1 0.0 0.0 0.00 | =——--—=——-
39 | -16.000 -0.1 -0.1 0.0 0.0 0.00 | ——=——mm——-
40 | -16.500 0.0 0.0 0.0 0.0 0.00 | ~—=———---—-
41| -17.000 0.0 0.0 0.0 0.0 0.00 | —~—=-——=----
42 | -17.500 0.0 0.0 0.0 0.0 0.00 | —-=-—=-----
43 | -18.000 0.0 0.0 0.0 0.0 0.00 | —~=====—---
44 | -18.500 0.0 0.0 0.0 0.0 0.00 | —~—====—---
45 | -19.000 0.0 0.0 0.0 0.0 0.00 | -~—=——----—-
46 | -19.500 0.0 0.0 0.0 0.0 0.00 | -~—=———----
47 | -19.529 0.0 0.0 0.0 0.0 0.00 | —~—-=-——=----
48 | -20.000 0.0 | ~——m—mm——- 0.0 | ~————mm——- (o010 [ ——

G.L.
G.L.
G.L.

-3.50m)
-2.00m)
0.00m)

FORUMS8
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|

0.0

T— AL FX10"-1 kN.m
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0.0

AW
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(2)2
1
" oL Pae (kN/m) e KH 5 R
m KN/m kN/m/m mm kN/m
1 0.000 | | -mmmm-—- 4.00 | —m—=m—=-—= | —mmm- -7.93 | —===—-——-
2 -0.500 6.80 6.80 | ——-====-mm | mmmmmeee -8.65 | —~-——--——-
3 -1.000 9.60 9.60 -535.50 61960 -9.38 45.9
4| -1.500 12.40 12.40 | —===mmmmmm | mmmmeeee -10.11 | —=—mmm--
5| -2.000 15.20 15.20 | —mmmmmmmmm | mmmmmm T Py < J [—
6| -2.500 18.00 18.00 | ~==mmmmmmm | mmmmem e -11.13 | ~==--m--
7| -3.000 20.80 20.80 | ———mmmmmmm | oo R ) [R—
8| -3.500 23.60 23.60 | ===mmmmmmm | mmmeeeee -10.99 | -—-——---
9| -3.800 25.28 25.28 | mmmmmmmmmm | mmmmeeee -10.67 | --=—----
10 | -4.000 26.40 26.40 | ——mmmmmmmm | mmmmem -10.39 | —=------
11| -4.375 28.50 28.50 | —mmmmmmmmm | oo —9.72 | o
12| -4.500 29.20 29.20 | mmmmmmmmmm | oo -9.46 | ———————
13 -4.800 30.88 30.88 12.01 600 -8.77 5.3
14 -5.000 29.60 29.60 42.19 2100 -8.28 17.4
15 -5.500 26.40 26.40 60.70 3000 -6.97 20.9
16 -6.000 23.20 23.20 61.20 3000 -5.62 16.9
17 -6.500 20.00 20.00 36.96 1800 -4.31 7.8
18 -6.600 19.36 19.36 30.94 1500 -4.06 6.1
19 -7.000 16.80 16.80 56.00 2700 -3.10 8.4
20 -7.500 13.60 13.60 37.56 1800 -2.04 3.7
21 -7.600 12.96 12.96 31.44 1500 -1.85 2.8
22 -8.000 10.40 0.00 40.37 13700 -1.16 15.9
23 -8.500 0.00 0.00 39.63 25000 -0.51 12.8
24 -9.000 0.00 0.00 52.13 25000 -0.09 2.1
25 -9.500 0.00 0.00 64.62 25000 0.16 -4.1
26 | -10.000 0.00 0.00 92.34 15000 0.29 -4.3
27 | -10.500 0.00 0.00 112.70 5000 0.33 -1.7
28 | -11.000 0.00 0.00 115.40 5000 0.32 -1.6
29 | -11.500 0.00 0.00 118.10 5000 0.28 -1.4
30 | -12.000 0.00 0.00 120.80 5000 0.23 -1.2
31| -12.500 0.00 0.00 123.50 5000 0.18 -0.9
32| -13.000 0.00 0.00 126.20 5000 0.13 -0.6
33| -13.500 0.00 0.00 128.90 5000 0.08 -0.4
34| -14.000 0.00 0.00 119.88 4559 0.05 -0.2
35| -14.412 0.00 0.00 66.69 2500 0.03 -0.1
36 | -14.500 0.00 0.00 79.33 2941 0.02 -0.1
37 | -15.000 0.00 0.00 137.00 5000 0.00 0.0
38 | -15.500 0.00 0.00 139.70 5000 -0.01 0.0
39| -16.000 0.00 0.00 142.40 5000 -0.01 0.1
40 | -16.500 0.00 0.00 145.10 5000 -0.01 0.1
41| -17.000 0.00 0.00 147.80 5000 -0.01 0.1
42 | -17.500 0.00 0.00 150.50 5000 -0.01 0.1
43 | -18.000 0.00 0.00 153.20 5000 -0.01 0.1
44 | -18.500 0.00 0.00 155.90 5000 -0.01 0.0
45| -19.000 0.00 0.00 158.60 5000 0.00 0.0
46 | -19.500 0.00 0.00 85.06 2647 0.00 0.0
47 | -19.529 0.00 0.00 81.03 2500 0.00 0.0
48 | -20.000 0.00 | -~-=—---- 76.88 2353 0.00 0.0
1
2
3 — —
4
2)2
Mmax = 50.2kN.m/m ( G.L. -3.50m) Mmin = -32_.6kN.m/m (
Smax = 39.1kN/m  ( G.L. -1.00m) Smin = -38.6kN/m  (
0 max= 0.33mm ( G.L. -10.50m) & min= -11.23mm (
kN_m/m kN/m
No GL mm KN/
1 0.000 | —=---=mm-- 0.0 | ===mmmmaem 0.0 By K J [P

G.L.
G.L.
G.L.

-8.00m)
-5.00m)
-3.00m)

FORUMS8
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kN/m

mm

01
01
01
01
01
01
01
0.00
0.00
0.00
0.00

kN/m

_
........................................ I
2936882945821492871014627643110000000000000000_
I oNMmAN 1 _al__n/__n/_._n.ﬂvnﬂ_al__ _1___ _al__—l__ — “
|

}

I

I

786747479280062768029820107140903133444332110000

2636882945878560465241462764311000OOOOOOOOOOOOO
I 1T MOAN-A I _a|__n/__n/_._ { I O Y I R R I |

-3
-3
-3
-2
-2
-1
-1
-1
1
1
1
1
1

kN.m/m

6934862405110852663660099108361331197532100000
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3)3
1
" oL Pae (kN/m) e KH 5 R
m KN/m kN/m/m mm kN/m
1 0.000 | | —mmmmmm- 4.00 | —mmmmmmmem | e -7.69 | o
2| -0.500 6.80 6.80 | mmmmmmmeee | mmeeeeee B T 7.4 [P R—
3| -1.000 9.60 9.60 -535.50 61960 -8.95 19.0
4| -1.500 12.40 12.40 | —mmmmmmmmm | mmmmee 1 J
5| -2.000 15.20 15.20 | —mmmmmmmmm | mmmmmm 10 I 2 [—
6| -2.500 18.00 18.00 | ~==mmmmmmm | mmmmem e -10.83 | -=———---
7 -3.000 20.80 20.80 | ———==—=-—= | mmmm——- -11.43 | -——-——--
8 -3.500 23.60 23.60 | —======mm | o -12.07 | -==-----
9 -3.800 25.28 25.28 -661.01 61960 -12.51 114.0
10 | -4.000 26.40 26.40 | ——mmmmmmmm | mmmmee I [ —
11| -4.375 28.50 28.50 | —mmmmmmmmm | —mmmmeo “13.47 | —mommee-
12| -4.500 29.20 29.20 | mmmmmmmmmm | oo -13.67 | ——=————-
13| -4.800 30.88 30.88 | ———mmmmmmm | e “14.12 | —-mmm-
14 | -5.000 32.00 32.00 | m==mmmmmmm | mmmmmeee -14.37 | —==————-
15| -5.500 34.80 34.80 | m-=mmmmmmm | mmmmeeee -14.73 | —==————-
16 | -6.000 37.60 37.60 | ——mmmmmmmm | mmmem -14.65 | ———————-
17 |  -6.500 40.40 VT T/ A [O— -14.05 | --=——-—--
18 | -6.600 40.96 40.96 | ~mmmmmmmmm | —mmmmmme -13.87 | -=———-—-
19 -7.000 43.20 43.20 | ===-==mmmm | mmmmmme- -12.94 | -——-——--
20 -7.500 46.00 46.00 | -—==—===== | —==————- -11.40 | -——-----
21 -7.600 46.56 46.56 24.04 1200 -11.06 13.3
22 -8.000 44.00 31.80 27.04 13700 -9.59 0.0
23 -8.500 27.30 27.30 13.53 25000 -7.68 0.0
24 -9.000 22.80 22.80 23.77 25000 -5.85 0.0
25 -9.500 18.30 18.30 34.02 25000 -4.24 0.0
26 | -10.000 13.80 30.00 73.68 15000 -2.97 44.6
27 | -10.500 26.60 26.60 106.40 5000 -2.06 10.3
28 | -11.000 23.20 23.20 107.40 5000 -1.44 7.2
29 | -11.500 19.80 19.80 108.40 5000 -1.01 5.1
30 | -12.000 16.40 16.40 109.40 5000 -0.73 3.6
31| -12.500 13.00 13.00 110.40 5000 -0.53 2.6
32| -13.000 9.60 9.60 111.40 5000 -0.38 1.9
33| -13.500 6.20 6.20 112.40 5000 -0.26 1.3
34| -14.000 2.80 2.80 103.35 4559 -0.17 0.8
35| -14.412 0.00 0.00 57.04 2500 -0.11 0.3
36 | -14.500 0.00 0.00 67.80 2941 -0.10 0.3
37 | -15.000 0.00 0.00 117.40 5000 -0.05 0.2
38 | -15.500 0.00 0.00 120.10 5000 -0.01 0.0
39| -16.000 0.00 0.00 122.80 5000 0.01 -0.1
40 | -16.500 0.00 0.00 125.50 5000 0.03 -0.1
41| -17.000 0.00 0.00 128.20 5000 0.03 -0.2
42 | -17.500 0.00 0.00 130.90 5000 0.03 -0.2
43 | -18.000 0.00 0.00 133.60 5000 0.03 -0.1
44 | -18.500 0.00 0.00 136.30 5000 0.02 -0.1
45| -19.000 0.00 0.00 139.00 5000 0.02 -0.1
46 | -19.500 0.00 0.00 74.68 2647 0.01 0.0
47 | -19.529 0.00 0.00 71.23 2500 0.01 0.0
48 | -20.000 0.00 | -~-=—---- 67.65 2353 0.00 0.0
1
2
3 — —
4
2)3
Mmax = 72_.2kN.m/m ( G.L. -6.00m) Mmin = -53.0kN.m/m (
Smax = 77.4kN/m - ( G.L. -3.80m) Smin = -64.0kN/m  (
0 max= 0.03mm ( G.L. -17.00m) & min= -14.73mm (
kN_m/m kN/m
No GL mm KN/
1 0.000 | —=---=mm-- 0.0 | ===mmmmaem 0.0 By - I [FE—

G.L.
G.L.
G.L.

~10.00m)
-8.00m)
-5.50m)
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kN/m

114.0
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01
01
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03
03
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kN/m
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4
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-1
-3
-5
-4
-3
-3
-2

1

“
IO AN N “
I
1
1
1
1

78725236293303234251077222156888213699875431100
26608896218936815249410_/19739520000000000000000
P TTSRERIIRTSNR RIS S

kN.m/m

6985421902791525170449230939935287639507421000

1
2
1
1
2
3
4
6
0
!
:
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3
3
-1
-3
-4
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-2
-1
-1

69854219027915251704492309399352876395074210000

_1211234677763311346%41__4 [ T I B R N N |
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No
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mm mm mm kN/m kN/m
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4
D
" oL Pae (kN/m) e KH 5 R
m KN/m kN/m/m mm kN/m
1 0.000 | | —mmmmmm- 4.00 | —mmmmmmmem | e -7.85 | o
2| -0.500 6.80 6.80 | mmmmmmmeee | mmeeeeee -8.40 | ~—————--
3| -1.000 9.60 9.60 -535.50 61960 -8.95 19.1
4| -1.500 12.40 12.40 | —===mmmmmm | mmmmeeee -9.51 | ———mmm—-
5| -2.000 15.20 15.20 | —mmmmmmmmm | mmmmmm -10.06 | --------
6| -2.500 18.00 18.00 | ~==mmmmmmm | mmmmem e -10.59 | -=———---
7| -3.000 20.80 20.80 | ———mmmmmmm | oo “11.11 | —mmmmme-
8| -3.500 23.60 23.60 | ===mmmmmmm | mmmeeeee -11.67 | -—=—-—--
9| -3.800 25.28 25.28 -661.01 61960 | -12.06 86.0
10 | -4.000 26.40 26.40 | ——mmmmmmmm | mmmmee 1Y [——
11| -4.375 28.50 28.50 | —mmmmmmmmm | oo I V) ——
12| -4.500 29.20 29.20 | mmmmmmmmmm | oo -13.15 | ——=m———-
13 -4.800 30.88 30.88 | ———=-—mm—= | oo -13.63 | -——-—-—--
14 -5.000 32.00 32.00 | ~=====mmmm | mmmmeeem -13.94 | -——-——--
15 -5.500 34.80 34.80 | ———=——==—= | mmmm———- -14.64 | -——-——--
16 -6.000 37.60 37.60 | --———————— | ———————- -15.23 | -————---
17 -6.500 40.40 40.40 | -——--————- | ———————- -15.75 | -—————--
18 -6.600 40.96 40.96 -859.14 61960 -15.85 123.2
19| -7.000 43.20 43.20 | —mmmmmmmmm | mmmemeo -16.26 | ——=-———-
20| -7.500 46.00 46.00 | ~—=mmmmmmm | —mmmmmm- -16.63 | ---——---
21| -7.600 46.56 46.56 | —mmmmmmmmm | —mmmmmme -16.67 | ~—----—-
22 | -8.000 48.80 36.60 | ——=mmmmmmm | mmmmmm- -16.67 | —————-—-
23 | -8.500 39.60 39.60 | ~—mmmmemme | memmeee- -16.27 | ~=-mmmm-
24 | -9.000 42.60 42.60 | ——-mmmmmmm | mmmemee “15.41 | ——-mmmm-
25 -9.500 45.60 45.60 | -——-—=-—-= | —==————- -14.13 | --—-——--
26 | -10.000 48.60 64.80 50.13 2500 -12.54 31.4
27 | -10.500 61.40 61.40 101.00 5000 -10.85 54.2
28 | -11.000 58.00 58.00 102.00 5000 -9.21 46.0
29 | -11.500 54.60 54.60 103.00 5000 -7.74 38.7
30 | -12.000 51.20 51.20 104.00 5000 -6.50 32.5
31| -12.500 47.80 47.80 105.00 5000 -5.47 27.4
32| -13.000 44.40 44.40 106.00 5000 -4.65 23.3
33| -13.500 41.00 41.00 107.00 5000 -4.00 20.0
34| -14.000 37.60 37.60 98.43 4559 -3.49 15.9
35| -14.412 34.80 34.80 54.33 2500 -3.14 7.8
36 | -14.500 34.20 34.20 64.24 2941 -3.07 9.0
37 | -15.000 30.80 30.80 110.00 5000 -2.72 13.6
38 | -15.500 27.40 27.40 111.00 5000 -2.41 12.0
39| -16.000 24.00 24.00 112.00 5000 -2.12 10.6
40 | -16.500 20.60 20.60 113.00 5000 -1.84 9.2
41 | -17.000 17.20 17.20 114.00 5000 -1.56 7.8
42 | -17.500 13.80 13.80 115.00 5000 -1.28 6.4
43 | -18.000 10.40 10.40 116.00 5000 -1.00 5.0
44 | -18.500 7.00 7.00 117.00 5000 -0.71 3.6
45| -19.000 3.60 3.60 118.00 5000 -0.42 2.1
46 | -19.500 0.20 0.20 62.88 2647 -0.14 0.4
47 | -19.529 0.00 0.00 59.83 2500 -0.12 0.3
48 | -20.000 0.00 | -~-=—---- 56.92 2353 0.15 -0.3
1
2
3 — —
4
2)
Mmax = 65.3kN.m/m ( G.L. -8.50m) Mmin = -32_7kN.m/m ( G.L. -12.00m)
Smax = 80.0kN/m  ( G.L. -6.60m) Smin = -68.3kN/m  ( G.L. -10.50m)
0 max= 0.15mm ( G.L. -20.00m) & min= -16.67mm ( G.L. -7.60m)
kN.m/m kN/m
No GL mm KN/
1 0.000 | —=---=mm-- 0.0 | ===mmmmaem 0.0 =7.85 | =m=mmmmeem
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kN/m
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-0.14
-0.12

0.15

kN/m
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3
3.1
3.1.1
1
2
3
3.1.2
1
2

14
G.L.(m) -20.000
G.L.(m) -10.000
G.L.(m) -10.000
G.L.(m) 0.000
L m 10.000
y kN/m 10.0
Yy w kN/m’ 10.0
Ra
Ra = —— Ru—W = N
W N
(ﬁ“) (kN) (Eﬁ) (KN)
1 2 2181.88 200.00 890.94 0.00 | o
Ru
Ru gd Ap U X Lix fsi
1
Ap u
(m) (m)
0.0243 1.0000
2 qd
gd aN N 60
N
N N
N qdZ
a N (KN/m)
150 50.0 7500.00
3 1/2 qu Lc+10/3 Ns Ls
Ns Ns 30
qu qu 200
> 1/2 qu Lc+tl0/3 Ns Ls 2000.00(kN/m)
No Li N fi Li fi
m N qu (kN/T) (kN/m)
1/10.000 | ----- 200.0 100.00 1000.00
> | 10.000 1000.00
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No Li N fi Li fi
(m N qu (kN/T) (kN/m)
11]10.000 | ----- 200.0 100.00 1000.00
>~ | 10.000 1000.00
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4
4.1
4.1.1
@
1
2)
G.L.(m) 0.000
G.L.(m) | -20.000
G.L.(m) -10.000
Ld m 10.000
G.L.(m) -2.000
G.L.(n) | -10.000
hw m 8.000
Yy w kN/m’ 10.0
q kN/m? 0.000
D1 m -2.000
D1
D2 Ld
)
1
Fs = %— = Fsa
W q U Fs
(N/TY | (kN Fsa
204.00 80.00 2.55 1.20 | o
2)
Yy’ D1 2 D2 204.00(kN/m?)
v’ (kN/m?) ( )
1 D2
No Li , Vs
y y ' iLi
G.L.(m) | G.L.(m) | (m) KN/ KN/
1| -10.000 | -20.000 | 10.000 8.0 80.00
b2 10.000 80.00
2 D1 D2
No Li , .
y y ' iLi
G.L.(m) | G.L.(m) | (m) (kN/m) (kN/)
1 -2.000 -8.000 | 6.000 4.0 24.00
2 -8.000 | -10.000 | 2.000 10.0 20.00
3| -10.000 | -20.000 | 10.000 8.0 80.00
b2 18.000 124.00
3)
U yw hw 80.00(kN/m?)

FORUMS8
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4.1.2
(€H)
G.L.(m) 0.000
G.L.(m) | -20.000
G.L.(m) | -10.000
Ld m 10000
G.L.(n) | -2.000
G.L.(m) | -10.000
hw m 8.000
L m 2.000
Lr m 8.000
Lr
@)
1
Lh Ld 2.0 hw
hw
Lh (m)
Lh Ld Lr L
Ld (m
2
th Ld |2.0 hw
Lh (m) Ld (m) (m (m
16.000 10.000 26.000 | 16.000 | o
=
hw Lr
Lh
AN
doktk L
Ld

FORUMS8
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4.1.3
@
1
2)
G.L.(m) 0.000
G.L.(m) | -10.000
G.L.(m) -2.000
G.L.(m) | -10.000
y w kN/m® 10.0
q kN/m? 10.00
)
1)
b= (i) ta oy,
2yH g c
(kN/iT?) (KN/1T) Nba
160.00 100.00 | 1.600 4.00| o
O
2)Z y i Hi
y i (kN/m*)
No Li , T
y y ' iLi
G.L.(m) | G.L.(m) | (m) (kN/m) (kN/)
1 0.000 -2.000 | 2.000 14.0 28.00
2 -2.000 -8.000 | 6.000 15.0 90.00
3 -8.000 | -10.000 | 2.000 21.0 42.00
z 10.000 160.00
3)

c 100.00kN/m?

FORUMS8
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4.1.4
@
1)
2)
G.L.(m) | -10.000
G.L.(m) | -11.000
G.L.(m) | -13.000
hw m 4.000
y w kN/m’ 10.0
q KN/m? 0.000
@)
1)
Fs = %— = Fsa
w g u Fs
(KN/T) | (kN/E) Fsa
54.00 40.00 1.35 1.10 | o
2)
( )
W yi Li 54..00(kN/m?)
y (KN/m?)
No Li ) v s
6L | 6L | M | golym) sz/%%'
1| -10.000 | -13.000 | 3.000 18.0 54.00
2z 3.000 54.00
3)
u yw hw 40.00(kN/m?)
EEREEERRZZZDNY
==
AN
hl 1 hw
ne Y2—v
u
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5
5.1
5.1.1
D1
141 2% 3%
297
1 1 1
17
1 1 1
20000
@
1)
2)
No.
1 1 2
2 2 2
3 3 2
3)
No. No
1 1 1
2 2 1
3 3 1

15000
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4)
No. No
1 1 1 1
2 2 1 1
3 3 1 1
5)
No.
1 1 1 1
2 2 1 1
3 3 1 1
6)
No.
1 1
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5.1.2
D
(kN/m)
1 45.89
2 114.03
3 123.22
@
14
€))
No. No. B (m) L (m) Lb (m)
1 1 2 17 2.67 3.50 3.50
2 2 2 17 2.67 3.50 3.50
3 3 2 17 2.67 3.50 3.50
55400
Nt 150 kN
ft 195 N/mm?
fs 110 N/mm?
(1/10)wL?
®
No. No. B (m) L (m w (KN/m) Lb (m)
1 1 1 17 4.83 5.00 5.00 5.00
2 2 1 17 4.83 5.00 5.00 5.00
3 3 1 17 4.83 5.00 5.00 5.00
SS400
Nt 150 kN
ft 195 N/mm?
fs 110 N/mm?
®)
No. No. L1 () 2 L (m) Lb m) |w(kN/m)| ©( )
1 1 1 17 1.50 2.00 1.35 1.35 5.00 45
2 2 1 17 1.50 2.00 1.35 1.35 5.00 45
3 3 1 17 1.50 2.00 1.35 1.35 5.00 45

FORUMS8
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SS400

ft 195 N/mm?

fs 110 N/mm?

Nt 150 kN
(6)

No. NO. L1 (m L2 (m) L (m) Lb (m) w (KN/m) 0( )
1 1 1 17 1.85 1.65 1.35 1.35 5.00 45
2 2 1 17 1.85 1.65 1.35 1.35 5.00 45
3 3 1 17 1.85 1.65 1.35 1.35 5.00 45

SS400

ft 195 N/mm?

fs 110 N/mm?

Nt 150 kN
)

No- Hm | L (m 1B N4 (kN) | LNx (m) | LNy (m) | Lwx (m) | Lwy (m) e (m)

1 6.60 3.40 X 0.000 4.83 5.00 5.00 4.91 0.00
SS400
Pt 150 kN
wi 5.00 kN/m
w 1.47 kN/m
ft 195 N/mm?
fs 110 N/mm?

FORUMS8
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5.1.3
M1
1)
22.95 kN/m 45.89 kN/m 2
3.50 m
2.67 m
Nt 150 kN
Lb 3.50 m
2)
N RxB Nt 22.95x 2.67 150  211.38 kN
LT 2
fiFE— ok oMo= Rl = 22.95X 300 95 4y kN
10 10
AW s = KL — 229X 500 — 4915 1
3) - H 350 350x 12x 19
A 154.90 cm? z 2000 cm?
4)
3
FEREIS e = f = Z%éﬁgxm = 14 = 178 N/mn’
M 28.11X10° .
BRI A ob = —— = 5500000 = 14 = 195 N/mm
fc 178 N/mm? A 38.9
fo 195 N/mm®  max{ fbl  188,fb2 597 } fb 195
gc b 14 14
- + —& = —— + —— = 0.15 = 1.00
- _ S 4015 X10° )
fs 110 N/mm?
5) H 350x 350% 12x 19
A Lb iy 3500.0 89.90 38.9 Lb iy 2
2‘ 2
293% (1—0. 4| 2
120
112089, fo = )
Lt ox| A
0Ty 120
38.9 \’
293X (1—0.4 =
120
B 2 38.9 |’
Lo+ ox| 22
3 120
178 N/mm?
2 fb 195

FORUMS8
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Lb\,
ik
fbl = 195X |1—0.4X |——
120
Lb ik
3500 |,
99
= 195X [1—0.4X
120
188 N/mm?
1.10X10°
fb2 = —
LbXh
Af
h Af
_ L10X10°
3500X 350
6650
597 N/mm?

fb 195 N/mm?

fs 110 N/mm?

(2)2
1
57.02 kN/m 114.03 KN/m 2
3.50 m
2.67m
Nt 150 kN
Lb 3.50 m
2)
N RxB Nt 57.02x 2.67 150  302.52 kN
. 2
HiFE—AL b M = RIOL = 57'021>5 3.50°  — §9.84 kN.m
A o _ R2-L _ 57.o§>< 350 _ g9 78 1y
3) - H 350 350x 12x 19
A 154.90 cm? Z 2000 cm?
4)
e ¢ 2%
55 Inwalia oo = f = 5%4%“0 = 20 = 178 N/mn’
~ 8
1 I 4 b = 1\24 = bg.ogggééo = 35 < 195 N/mm’
fc 178 N/mm’ A 38.9
fb 195 N/mm’ max{ fbl 188, fh2 597 } fb

195

FORUMS8
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gc ob _ 20 35 _
To + N = 178 + 195 = 0.29 = 1.00
S _ S 99, 78 X 10° _ 2
fs 110 N/mm?
5) H 350x 350x 12x 19
A Lb iy 3500.0 89.90 38.9 Lb iy 2
l 2!
203X {1—0.4 —
120
L=12080, fc = -
2 A
1.64+—X| —
3 120
38.9 \’
203X 11—0.4| —
120
B 9 {389\
1.b+—X| ——
3 120
178 N/mm?
2 fb 195
Lb,
ik
fbl = 195X [1—0.4X |——
120
Lb ik 2
3500 |,
99
= 195X [1—0.4X
120
188 N/mm?
1. 10X 10°
fh2 = ———
LbXh
Af
h Af
_1.10X10°
3500X 350
6650
597 N/mm?

b 195 N/mm?

fs 110 N/mm?

(3)3

1
R 61.61 kN/m
L 3.50 m

123.22 kN/m 2

FORUMS8
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B 2.67 m
Nt 150 kN
Lb 3.50 m
2)
N Rx B Nt 61.61x 2.67 150 314.81 kN
.12 2
gFE—Ar b M= Bh OLOLX 3.0 — 75.47 kN.m
AT g =KL - BLBIX 350 — o7 89 1y
3) : H 350% 350x% 12x 19
A 154.90 cm’ VA 2000 cm?
4)
3
FEAE I ) oc = —4— = —HEBXAT — 90 < 478 N/mn’
S e _ M 75.47x10°  _ . ,
Hi T I 70 R ob = —— = 5600000 = 38 = 195 N/mm
fc 178 N/mm? A 38.9
fb 195 N/mm? max{ fbl 188, fh2 597 } fb 195
oc ab _ 20 38 _
o + — = s T Tos— = 0.31 = 1.00
e L _ S _107.82X10° _ 2
fs 110 N/mm?
5) H 350x 350x 12x 19
A Lb iy 3500.0 89.90 38.9 Lb iy 2

A=1208L0, fc

293 X

()

2 2
Lt ox |
3 120

38.9 \’
293X |1—0. 4| ——
120
B 2 38.9 \’
L+—x| ==
3 120
178 N/mm?
2 fb 195
Lb 1y,
ik
fbl = 195X |1—0.4X | —
120
Lb ik 2

FORUMS8
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3500 |,
99
= 195X [1—0.4X
120
188 N/mm?
1. 10X 10°
fh2 = ———
LbXh
Af
h Af
_1.10X10°
3500X 350
6650
597 N/mm?

b 195 N/mm?

fs 110 N/mm?

FORUMS8
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5.1.4
M1
1
45.89 kN/m
4.83 m
Nt 150 kN
5.00 kN/m
5.00 m
Lb 5.00 m
2)
N Rx B Nt  45.89x 4.83 150 371.42 kN
. 2
HiFE— AL b M= Y 8L = 5'OO>§ 5.000  — 45 63 kN.m
3) - H 350x 350x 12x 19
A 154.90 cm? YA 2000 cm®
4)
3
55 Inwalia oc = —S— =LA — 9y < 163 N/mn’
M 15.63X10° ,
B s D ob = T = 5000000 8 = 195 N/mm
fc 163 N/mm? A 55.6
fb 195 N/mm? max{ fbl 181, fh2 418 } fb
ge ab _ 24 8
o + 5 = T g — = 0.19 = 1.00
5) H 350x 350x 12x 19
A Lb iy 5000.0 89.90 55.6 Lb iy 2
l 2!
203X (1—0.4| ——
( 120 ))
A=12080D, fe = 2
2 A
1.54+—X| —
3 120
55.6 \°
203X {1—0.4( ——
( 120 )
B 2 /556 \
1LB+—x| ——
3 120 )
163 N/mm?
2 fb 195
Lb \,
ik
fhl = 195X |1—0.4X | —
120
Lb ik 2

195

FORUMS8
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(22

D

2)

3)

4)

5)

fb2

5000 |
195X [1—0.4X 99
120
181 N/mm?
1.10x10°
LbXh
Af
h Af
1.10x10°
5000 X 350
6650
418 N/mm?

b 195 N/mm?

R 114.03 kN/m

4.83 m

Nt 150 kN
5.00 kN/m

L 5.00 m

Lb 5.00 m

N Rx B Nt 114.03x 4.83 150 700.19 kN
. 2
gFE—A b oM o= = 900X 5.00 _ 4563 kn
: H 350x 350x 12x 19
A 154.90 cm? Z 2000 cm?
Eff\ﬁﬁ}ﬁ&f oc = E = 7(1)g4£1)8><10° = 45 < 163 N/mmz
_ M _ _ 15.63%10° _ )
BT e I ob = —Z— = 5600000 = 8 = 195 N/mm
fc 163 N/mm? A 55.6
fb 195 N/mm? max{ fbl 181, fh2 418 } fb
oc ob _ 45 8 _
To + h = 163 + 195 = 0.32 = 1.00
H 350x 350x 12x 19
A Lb iy 5000.0 89.90 55.6 Lb iy 2

195

FORUMS8
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A=12080, fe =

fbl

fb2

(3)3
1)

2)

3)

N Rx B Nt

l 2!
203X {1—0.4 —
=3l
2 1
1.b+—X| —
3 120
55.6 \°
203X {1—0.4| ——
( 120 )
B 2 /556 \
1.+—X| ——
3 120
163 N/mm?
fb 195
Lb y,
ik
195X |[1—0.4 X { ——
120
Lb ik 2
5000 |,
99
195X |1—0.4X
120
181 N/mm?
1.10X10°
LbXh
Af
h Af
1. 10X 10°
5000 X 350
6650
418 N/mm?
b 195 N/mm?
123.22 kN/m
4.83 m
Nt 150 kN
5.00 kN/m
L 5.00 m
Lb 5.00 m

123.22x 4.83 150 744 .54 kN

. ]2 2
gFE—A b g o= = 900X 5.00 _ 563 kn
: H 350x 350x 12x 19
154.90 cm’ Z 2000 cm’

FORUMS8
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4)
3
T S oc = S— = DX _ g < 163 N/m
M 15.63X10° )
BRI IS 73 ob = —— = 5500000 = 8 = 195 N/mm
fc 163 N/mm? A 55.6
fb 195 N/mm? max{ fbl 181,fh2 418 } fb 195
gc ob _ 48 8 -
o + b = 163 + 195 = 0.34 = 1.00
5) H 350x 350x 12x 19
A Lb 1y 5000.0 89.90 55.6 Lb iy 2
l 2!
203X {1—0.4 —
120
A=120k9, fc = P
2 A
1.+—X| —
3 120
55.6 \°
203X {1—0.4| ——
120
B 2 /556 \
[.5+—x| —
3 120
163 N/mm?
2 fb 195
Lb 1y,
ik
fbl = 195X |1—0.4X |——
120
Lb ik 2
5000 |,
99
= 195X [1—0.4X
120
181 N/mm?
1.10X10°
fb2 = ——mm
LbXh
Af
h Af
L 10X10°
5000 X 350
6650
418 N/mm?

fb 195 N/mm?

FORUMS8
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5.1.5
M1
D

2)

R 45.89 kN/m

L1 1.50 m
L2 2.00 m
1.35m
w 5.00 kN/m
Nt 150 kN
0 45
Lb 1.35m

N (1/2)x (L1 L2)x R cosB Nt
(1/2)x (1.50 2.00)x 45.89 cos(45° ) 150

.12 N Y
iFe—sar M= k= 000 LIy s
3) - H 350x 350x 12x 19
A 154.90 cm? z 2000 cm?
4)
3
FEREIS co = — =220 — 47 < 195 N/m
M 1.14X10° )
BRI A ob = —Z— = 5600000 =1 = 195 N/mm
fc 192 N/mm? A 15.0
b 195 N/mm®>  max{ fbl  194,fb2 1548 }
gc gb _ 17 1 .
- + —f = —qgo— T —qog— = 0.09 £ 1.00
5) H 350x 350x 12x 19
A Lb iy  1350.0 89.90 15.0 Lb iy 2
l 2!
293X [1—0. 4| ——
120
A=120L9, fc = >
9 A
L5+—x| —
3 120
15.0 \’
203X [1—0. 4] ——
120
B 2 15.0 \*
L5+—x| —
3 120
192 N/mm?
2 fb 195

263.57 kN

fb 195

FORUMS8
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Loy,
ik
fbl = 195X |1—0.4X {—
120
Lb ik 2
1350 |\,
99
= 195X |1—0.4X
120
194 N/mm?
1.10X10°
b2 = ———
LbXh
Af
h Af
_ 1.10X10°
1350 X 350
6650
1548 N/mm?
fo 195 N/mm?
(2)2
D
R 114.03 kN/m
L1 1.50m
L2 2.00 m
1.35m
w 5.00 kN/m
Nt 150 kN
0 45
Lb 1.35m
2)
N (/2)x (L1 L2)x R cosB® Nt
(172)x (1.50 2.00)x 114.03 cos(45° ) 150
. ]2 2
gFE—ay b= Al = 000 LIy
3) : H 350x 350x 12x 19
A 154.90 cm’ z 2000 cm®
4)
3
FEA I E oc = —— = —HZEXI _ 55 < 199 N/mn’
M LL14X10° 2
il B ob = —— = 5500000 = 1 = 195 N/mm
fc 192 N/mm? A 15.0
fb 195 N/mm? max{ fbl 194,th2 1548 }
oc ob _ 28 1 _
To + N = 192 + 195 = 0.15 = 1.00

432.21 kN

fb 195

FORUMS8
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5) H 350x 350x 12x 19
A Lb iy  1350.0 89.90 15.0 Lb iy
1 2
203X {1—0.4 —
)
A=12089, fe = P
15+£>< —;L
’ 3 120
15.0 \’
203X |{1—0.4| ——
( 120 )
B 2 15.0 \*
1.5+—X
3 120
192 N/mm?
2 fb 195
Lb\,
ik
fbl = 195X [1—0.4X |——
120
Lb ik 2
1350 |,
99
= 195X [1—0.4X
120
194 N/mm?
1.10x10°
fh2 = ——
LbXh
Af
h AF
_ L10X10°
1350 X 350
6650
1548 N/mm?
fb 195 N/mm?
3)3
1
R 123.22 kN/m
L1 1.50 m
L2 2.00 m
1.35m
W 5.00 kN/m
Nt 150 kN
0 45
Lb 1.35m
2)

N (1/2)x (L1 L2)x R cosB® Nt
(1/2)x (1.50 2.00)x 123.22 cos(45° ) 150

454 95 kN

FORUMS8
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.72 2
gFE—A b oM o= e 200X LIy gy
3) : H 350x 350% 12x 19
A 154.90 cm? Z 2000 cm®
4)
FEfI oc = f = 4?‘51488“0“ = 29 < 192 N/ma’
M 1.14X10° )
BRI A ob = —Z— = 5600000 =1 = 195 N/mm
fc 192 N/mm? A 15.0
fb 195 N/mm? max{ fbl 194, fh2 1548 } fb
oc ob _ 29 1
o + —5 = o5 — T o5 = 0.16 = 1.00
5) H 350x 350x 12x 19
A Lb iy 1350.0 89.90 15.0 Lb iy 2
1 2!
203X (1—0.4| —
120
L=12080, fe = 2
2 A
1L.5+—=X| —
3 120
15.0 \*
203X [1—0.4] ——
120
B 2 15.0 \°
1.5+—=X| —
3 120
192 N/mm?
2 fb 195
Lby,
ik
fbl = 195X |[1—0.4X | ——
120
Lb ik 2
1350 1,
99
= 195X |1—0.4X
120
194 N/mm?
1. 10X 10°
b2 = —————
LbXh
Af
h Af
110X 10°
1350 X 350
6650
1548 N/mm?

195

FORUMS8
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To

195 N/mm?

FORUMS8




- 45 -

5.1.6
M1
D

2)

R 45.89 kN/m

L1 1.85m
L2 1.65m
1.35m
w 5.00 kN/m
Nt 150 kN
0 45
Lb 1.35m

N (1/2)x (L1 L2)x R cosB Nt
(1/2)x (1.85 1.65)x 45.89 cos(45° ) 150

.12 N Y
iFe—sar M= k= 000 LIy s
3) - H 350x 350x 12x 19
A 154.90 cm? z 2000 cm?
4)
3
FEREIS co = — =220 — 47 < 195 N/m
M 1.14X10° )
BRI A ob = —Z— = 5600000 =1 = 195 N/mm
fc 192 N/mm? A 15.0
b 195 N/mm®>  max{ fbl  194,fb2 1548 }
gc gb _ 17 1 .
- + —f = —qgo— T —qog— = 0.09 £ 1.00
5) H 350x 350x 12x 19
A Lb iy  1350.0 89.90 15.0 Lb iy 2
l 2!
293X [1—0. 4| ——
120
A=120L9, fc = >
9 A
L5+—x| —
3 120
15.0 \’
203X [1—0. 4] ——
120
B 2 15.0 \*
L5+—x| —
3 120
192 N/mm?
2 fb 195

263.57 kN

fb 195

FORUMS8
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Loy,
ik
fbl = 195X [1—0.4X | ——
120
Lb ik 2
1350 |\,
99
= 195X |1—0.4X
120
194 N/mm?
1.10X10°
fb2 = ——
LbXh
Af
h Af
_ 1.10X10°
1350 X 350
6650
1548 N/mm’
fb 195 N/mm?
(2)2
1
R 114.03 kN/m
L1 1.85m
L2 1.65m
1.35m
w 5.00 kN/m
Nt 150 kN
0 45
Lb 1.35m
2)
N (/2)x (L1 L2)x R cosB® Nt
(1/72)x (1.85 1.65)x 114.03 cos(45° ) 150
. ]2 2
gFE—ay b= Al = 000 LIy
3) : H 350x 350x 12x 19
A 154.90 cm’ VA 2000 cm®
4)
3
FEARIG 1 oc = —— = —HZEXI _ 55 < 199 N/mn’
M LL14X10° 2
BT I ) B ob = —— = 5500000 =1 = 195 N/mm
fc 192 N/mm? A 15.0
fb 195 N/mm? max{ fbl 194,th2 1548 }
gc ob _ 28 1 _
To + N = 192 + 195 = 0.156 = 1.00

432.21 kN

fb 195

FORUMS8
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5) H 350x 350x 12x 19
A Lb iy  1350.0 89.90 15.0 Lb iy
1 2
203X {1—0.4 —
)
A=12089, fe = P
15+£>< —;L
’ 3 120
15.0 \’
203X |{1—0.4| ——
( 120 )
B 2 15.0 \*
1.5+—X
3 120
192 N/mm?
2 fb 195
Lb\,
ik
fbl = 195X [1—0.4X |——
120
Lb ik 2
1350 |,
99
= 195X [1—0.4X
120
194 N/mm?
1.10x10°
fh2 = ——
LbXh
Af
h AF
_ L10X10°
1350 X 350
6650
1548 N/mm?
fb 195 N/mm?
3)3
1
R 123.22 kN/m
L1 1.85m
L2 1.65m
1.35m
W 5.00 kN/m
Nt 150 kN
0 45
Lb 1.35m
2)

N (1/2)x (L1 L2)x R cosB® Nt
(1/2)x (1.85 1.65)x 123.22 cos(45° ) 150

454 95 kN

FORUMS8
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.72 2
gFE—A b oM o= e 200X LIy gy
3) : H 350x 350% 12x 19
A 154.90 cm? Z 2000 cm®
4)
FEfI oc = f = 4?‘51488“0“ = 29 < 192 N/ma’
M 1.14X10° )
BRI A ob = —Z— = 5600000 =1 = 195 N/mm
fc 192 N/mm? A 15.0
fb 195 N/mm? max{ fbl 194, fh2 1548 } fb
oc ob _ 29 1
o + —5 = o5 — T o5 = 0.16 = 1.00
5) H 350x 350x 12x 19
A Lb iy 1350.0 89.90 15.0 Lb iy 2
1 2!
203X (1—0.4| —
120
L=12080, fe = 2
2 A
1L.5+—=X| —
3 120
15.0 \*
203X [1—0.4] ——
120
B 2 15.0 \°
1.5+—=X| —
3 120
192 N/mm?
2 fb 195
Lby,
ik
fbl = 195X |[1—0.4X | ——
120
Lb ik 2
1350 1,
99
= 195X |1—0.4X
120
194 N/mm?
1. 10X 10°
b2 = —————
LbXh
Af
h Af
110X 10°
1350 X 350
6650
1548 N/mm?

195

FORUMS8
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To

195 N/mm?

FORUMS8




- B0 -

5.1.7
(DNo.1
1)
X L1 4.83 m P 150.00 kN
Y L2 5.00 m wi 5.00 kN/m
X L1 5.00 m e 0.00 m
Y L2’ 4.91m
N1
X Y
R(kN/my | P (kN) | RxL1 P (kN) | RxL2 P (kN)
1 45.89 150.00 371.42 379.45
2 114.03 150.00 700.19 720.15
3 123.22 150.00 744 .54 766.10
(1) 1816.15 (2) 1865.70
N1 (1/50)x ((1) (2)) (1/50)x (1816.15 1865.70) 73.64 kN
N2
X Y
wi (kN/m) wix L1 (kN) wix L2 (kN)
1 5.00 25.00 24.56
2 5.00 25.00 24.56
3 5.00 25.00 24.56
() 75.00 (4) 73.69
N2 (3) (4) 75.00 73.69 148.69 kN
N3 wxH 1.47x6.60 9.71 kN
w; (kN/m) H; (m)
N4 0.00 kN
2)
N N1 N2 N3 N4
73.64 148.69 9.71 0.00 232.03 kN
M nl n2 xe 30.21 49.56 x 0.000 0.00 kN m
nl
n2
N’ N1 N2 N3
73.64 148.69 9.71 -84.76 kN
3) : H 350x 350x 12x 19
A 154.90 cm? z 2000 cm?
4)
3
FERR IS Ge = N _ 232. 03 X10 = 15 = 179 N/mm’

A 15490

FORUMS8
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oM 0.00X10° _ 2
BRI 77 ob = —— = 5500000 = 0 = 195 N/mm
fc 179 N/mm? A 37.8
fb 195

fb 195 N/mn?  max{ fbl  189,fb2 615 }

gc ob _ 15 0 _
To + N = 179 + 195 = 0.08 = 1.00
5) H 350x 350x 12x 19
A Lb iy 3400.0 89.90 37.8 Lb iy 2
2!
203X {1—0.4 —
( 120 ))
L=12080, fc = -
2 A
1.5+—X| —
3 120
37.8 \’
203X {1—0.4 ——
120
B 2 [ 37.8 \*
1.+—X| ——
3 120
179 N/mm?
2 fb 195
Lby,
ik
bl = 195X |1—0.4X |—
120
Lb ik 2
3400 |,
99
= 195X [1—0.4X
120
189 N/mm?
1. 10X 10°
fh2 = ———
LbXh
Af
h Af
_1.10X10°
3400X 350
6650
615 N/mm?

b 195 N/mm?

FORUMS8
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6
6.1
@
( )
G.L.(m) 0.000
G.L.(m) | -10.000
G.L.(m) | -10.257
5. 000 12. 000
14. 505 N
7 4
10. 257
(2)

D

Lxa = {2 Xdy = y2 X10.257 = 14.505 (m)

Lxa
dy
2)
No. Lxn(m)
1 5.000
2 12.000

FORUMS8




- B3 -

6.2
13 P.247
4.5.9-1 4.5.9-2
@
1)
( N = 36)
/ 0.412%
0 ymax = 10.000X0.412X10%= 0.04121 (m) = 0.020 (m) ... NG
JED M B R T & REIER S %
2
AN
AN
N
N
N
N
N
N
1 AN
\»\\
0 1 2 3
FEHRIE £ (107 6kN. m2/m)
2)
@)
2 (INIXHI) o xy
¢ = X —— XEX1
H e
99. 440 10. 000 X 20. 000 s &
= X - X2.00X10°X 17370X10
20. 000 ( 10. 000)
= 0.3455x (10° kN.m*/m)
Ni i N (m)
Hi i (m)
He ( )(m)
H + (m)
L (m)
w (m
E (kN/m?)
E = 2.00x 10°(N/mm?)= 2.00x 10° (KN/m?)
I (m*: )
I = I(cm/m)x 10°x a = 38600x 10°x 0.45 = 17370x 10° (m*/m)

)

o

(

FORUMS8
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Z ((/ (Ni)x Hi))

No Hi N |V QX Hi
G.L. (m |G.L. (my | (M
1| 0.000 | -8.000 | 8.000| 10.0 25.298
2| -8.000 |-10.000 | 2.000 | 50.0 14.142
3|-10.000 |-20.000 |10.000 | 36.0 60.000
z 99.440
@)
1)
30.0m
/ 1.297
(Lxmax)
Lxmax = 10.000X1.297 = 12.973 (m)
JE D M B UL TR AN IR &
AN
3
AN
N
N
AN
2 N
AN
AN
N
N
1 N
\’— —————
0 1 2
SHREIME & (107 6kN. m2/m)
2)
&)
= (NixHi)
g = ——— " XEXI
H
99. 440 . .
= ———— 7 X2.00X10°% 17370X 10
20. 000

0.1727x (10° kN.m2/m)

FORUMS8
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6.3
( 2002
(€D (Smax)
(Smax)
As = 1.00XAd
= 1.00X168. 17X 107%= 168. 17X 10" (n®)
2XAs
Smax =
LO+L1
2X168.17X107
= = 0.011 (m)
19. 740 + 10. 000
As m)
Ad (m?)
LO LO = [1.00]x HO(m) =19.740 (m)
HO (m) HO(m) =19.740 (m)
L1 (m) L1 = [1.00]x H(m) =10.000 (m)
H ( Y(m) H =10.000 (m)
5. 000 12. 000
L 19. 740
M 10. 000 )
19.740
v
(Smax) -10.00000, -10.00000
)
0 ya = [0.020] (m)
0 6 a= [0.001] (rad)
S ) ()| (a0
1 5.000 0.01131 o 0.00000 | 0.0000000
2 12.000 0.00899 o 0.06652 | 0.0011611

FORUMS8
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€)) (Ad)
(Ad)
GL m mm
No h m Ad
x 10° m*
1 0.000 -0.500 0.500 7.85 8.40 4.06
2| -0.500 -1.000 0.500 8.40 8.95 4.34
3| -1.000 -1.500 0.500 8.95 9.51 4.62
4| -1.500 -2.000 0.500 9.51 10.06 4.89
5| -2.000 -2.500 0.500 10.06 10.59 5.16
6| -2.500 -3.000 0.500 10.59 11.11 5.43
7| -3.000 -3.500 0.500 11.11 11.67 5.69
8| -3.500 -3.800 0.300 11.67 12.06 3.56
9| -3.800 -4.000 0.200 12.06 12.35 2.44
10 | -4.000 -4.375 0.375 12.35 12.94 4.74
11| -4.375 -4.500 0.125 12.94 13.15 1.63
12 | -4.500 -4.800 0.300 13.15 13.63 4.02
13| -4.800 -5.000 0.200 13.63 13.94 2.76
14 | -5.000 -5.500 0.500 13.94 14.64 7.14
15| -5.500 -6.000 0.500 14.64 15.23 7.47
16 | -6.000 -6.500 0.500 15.23 15.75 7.75
17 | -6.500 -6.600 0.100 15.75 15.85 1.58
18 | -6.600 -7.000 0.400 15.85 16.26 6.42
19 | -7.000 -7.500 0.500 16.26 16.63 8.22
20 | -7.500 -7.600 0.100 16.63 16.67 1.67
21 | -7.600 -8.000 0.400 16.67 16.67 6.67
22 | -8.000 -8.500 0.500 16.67 16.27 8.24
23 | -8.500 -9.000 0.500 16.27 15.41 7.92
24 | -9.000 -9.500 0.500 15.41 14.13 7.38
25| -9.500 | -10.000 0.500 14.13 12.54 6.67
26 | -10.000 | -10.500 0.500 12.54 10.85 5.85
27 | -10.500 | -11.000 0.500 10.85 9.21 5.01
28 | -11.000 | -11.500 0.500 9.21 7.74 4.24
29 | -11.500 | -12.000 0.500 7.74 6.50 3.56
30 | -12.000 | -12.500 0.500 6.50 5.47 2.99
31 |-12.500 | -13.000 0.500 5.47 4.65 2.53
32 | -13.000 | -13.500 0.500 4.65 4.00 2.16
33 | -13.500 | -14.000 0.500 4.00 3.49 1.87
34 | -14.000 -14.412 0.412 3.49 3.14 1.36
35| -14.412 | -14.500 0.088 3.14 3.07 0.27
36 | -14.500 | -15.000 0.500 3.07 2.72 1.45
37 | -15.000 | -15.500 0.500 2.72 2.41 1.28
38 | -15.500 | -16.000 0.500 2.41 2.12 1.13
39 | -16.000 | -16.500 0.500 2.12 1.84 0.99
40 | -16.500 | -17.000 0.500 1.84 1.56 0.85
41| -17.000 | -17.500 0.500 1.56 1.28 0.71
42 | -17.500 | -18.000 0.500 1.28 1.00 0.57
43 | -18.000 | -18.500 0.500 1.00 0.71 0.43
44 | -18.500 | -19.000 0.500 0.71 0.42 0.28
45 | -19.000 | -19.500 0.500 0.42 0.14 0.14
46 | -19.500 | -19.529 0.029 0.14 0.12 0.00
47 | -19.529 | -19.740 0.211 0.12 0.00 0.01
z 168.17
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